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#Gavity
app. backgr ound=' bl ack’
app. keyti me=0
for star in range(150):
Circl e(randrange(10, 391), randrange(10,391),1,fill=white")
Ri ght Th=Pol ygon(190, 200, 200, 195, 210, 198, 225, 200, 210, 202, 200, 205, fi | | =gr adi ent
("purple',"white',start="left'), visibl e=Fal se)
Lef t Th=Pol ygon( 210, 200, 200, 195, 190, 198, 175, 200, 190, 202, 200, 205, fi | | =gr adi ent
("purple',"white',start="right'), visibl e=Fal se)
10 Bott onTh=Pol ygon(200, 190, 195, 200, 198, 210, 200, 225, 202, 210, 205, 200, fil | =gr adi ent
11 ('purple',"white' ,start="top'), visibl e=Fal se)
12 TopTh=Pol ygon(200, 210, 195, 200, 198, 190, 200, 175, 202, 190, 205, 200, fi |l | =gr adi ent
13 ('purple ,"white' ,start="bottom ), visibl e=Fal se)
14 Pl ayer=Ci rcl e(200, 200, 14,fill = gray"')
15 Pl ayer.dx=0
16 Pl ayer.dy=0
17 1 asers=G oup()
18 app. newr and=0
19 lasers.tine=0
20 lasers.int=70
21 deat h=G oup()
22 app.rt=0
23 app.t=0
24 app. expl ode=Fal se
25 Player.l=1
26 | =Label (app.t, 200,50,fill="white', size=20)
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28 #NEWSTUFF
29 results=Goup(

30 Rect (150, 275, 100, 50, fill="1ightGey', border="grey'),
31 Label (' Resul ts', 200, 300, si ze=20)
32

33 results.visibl e=Fal se
34 Pl ayer.di stance=0
35 app. dis=[0]

36

37 def addLaser(dir):

38 app. new and=r andr ange( 1, 400)

39 i f(dir==0):

40 | asers. add(Li ne(app. newr and, 0, app. newrand, 1,fill="red",|ineWdth=3, dashes=(3,6)))
41 if(dir==1):

42 | asers. add(Li ne(0, app. new and, 1, app. newand, fill="red" ,|ineWdth=3, dashes=(3,6)))
43 i f(dir==2):

44 | asers. add(Li ne(app. newr and, 400, app. new and, 399, fill="red',|ineWdt h=3, dashes=(3, 6))
45 i f(dir==3):

46 | asers. add(Li ne(400, app. new and, 399, app. newrand, fill="red',|ineWdth=3, dashes=(3, 6))
47 def Deat hTime(x,y):

48 i f ((x==0)or(x==400)):

49 deat h. add(Li ne(0,y,400,y,fill="red ,lineWdth=2))

50 i f((y==0)or(y==400)):

51 deat h. add(Li ne(x, 0,x,400,fill="red ,|lineWdth=2))

52 def onKeyHol d(keys):

53 if(('left" in keys)and(Pl ayer.dx>-7)):

54 Pl ayer. dx-=.2

55 i f app. expl ode==Fal se:

56 Ri ght Th. vi si bl e=Tr ue

57 el se:

58 Ri ght Th. vi si bl e=Fal se

59 if(('right' in keys)and(Pl ayer. dx<7)):

60 Pl ayer. dx+=. 2

61 i f app.expl ode==Fal se:

62 Left Th. vi si bl e=True

63 el se:

64 Left Th. vi si bl e=Fal se

65 if(( up" in keys)and(Pl ayer.dy>-7)):

66 Pl ayer.dy-=.2

67 i f app.expl ode==Fal se:

68 Bot t onTh. vi si bl e=Tr ue

69 el se:

70 Bot t onirh. vi si bl e=Fal se

71 if(("'down" in keys)and(Player.dy<7)):

72 Pl ayer. dy+=. 2

73 i f app.expl ode==Fal se:



def

def

def

TopTh. vi si bl e=Tr ue
el se:
TopTh. vi si bl e=Fal se
expl ode():
| asers.int=0
Pl ayer. vi si bl e=Fal se
app. expl ode=Tr ue

Label (' Gane Over', 200, 200,fill="white', size=50)
Pl ayer.| =0

resul ts.visibl e=True

onStep():

app. rt+=1

| . val ue=app.t
i f((app.rt>=30)and(Pl ayer. vi si bl e==True)):
app.rt=0
app.t+=1
app. di s. append( Pl ayer. di st ance)
app. keyti me+=1
i f(app. keyti me==6):
app. keyti me=0
onKeyHol d(' 0')
| asers. time+=1
if(lasers.time>=lasers.int):
addLaser (randrange(0, 4))
| asers.tine=0
if(lasers.int>10):
| asers.int-=1
Ri ght Th. | eft =Pl ayer. center X
Ri ght Th. cent er Y=Pl ayer. centerY
Left Th. ri ght =Pl ayer. center X
Left Th. cent er Y=Pl ayer. centerY
Bot t omTh. t op=Pl ayer. centerY
Bot t onTh. cent er X=Pl ayer. center X
TopTh. bot t onePl ayer. centerY
TopTh. cent er X=Pl ayer. cent er X
Pl ayer. cent er X+=Pl ayer. dx
Pl ayer. cent er Y+=Pl| ayer . dy

Pl ayer. di st ance+=abs(Pl ayer. dx)
Pl ayer . di st ance+=abs(Pl ayer. dy)

i f((Player.centerX>=414) and( Pl ayer. dx>0)):
Pl ayer. cent er X=-14
i f((Player.right<=0)and(Pl ayer. dx<0)):
Pl ayer. cent er X=414
i f((Player.centerY>=414)and(Pl ayer.dy>0)):
Pl ayer. centerY=-14
i f((Player. bottonk=0)and(Pl ayer. dy<0)):
Pl ayer. center Y=414
for laser in |lasers.children:
i f(laser.yl==0):
| aser.y2+=5
i f(laser.x1==0):
| aser. x2+=5
if(laser.yl==400):
| aser.y2-=5
i f(laser.x1==400):
| aser.x2-=5

i f((laser.y2>=400)or (| aser.x2>=400) or (| aser.y2<=0)or (| aser. x2<=0)):

Deat hTi me(l aser. x1, | aser.y1)
| asers. renove(l aser)
for dead in death.children:
if((dead.lineWdth>1)and(dead.fill=="red")):
dead. | i neW dt h+=1
i f(dead. |ineW dt h==15):
dead.fill="crinmson’
elif((dead.fill=="crinson')and(dead.|ineWdth>1)):
dead. | i neWdt h-=1
elif(dead.lineWdth==1):
deat h. renpve( dead)
i f((Player. hitsShape(death)==True)and(Pl ayer.|==1)):
expl ode()
resul ts.visibl e=True

onMbusePr ess( nmouseX, nouseyY)
if (results. hits(nmouseX, nouseY)==True)and results.visibl

==Tr ue:
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Rect (0, 0, 400, 400, fill="white")
Label (' Resul ts', 200, 50, si ze=30)
Label (' Tinme:"', 75, 100)
Label (app.t, 200, 100)
Label (' Total Distance:', 75, 120)
Label (rounded( Pl ayer. di st ance), 200, 120)
Label (' Time (sec)', 200, 395)
Label (' Di stance Travel ed (Pixels)', 75, 160)
for point in range(len(app.dis)):
Circle((380/1en(app.dis))*point+30, 380-
((app. di s[ point]/app.dis[len(app.dis)-1])*200), 4)
Li ne((380/1 en(app. dis))*poi nt +30, 380, (380/ | en(app. di s)) *poi nt +30, 180,
I'i neW dt h=1)
Li ne( 30, 380- ((app. di s[poi nt]/app. dis[| en(app.dis)-1])*200),
380, 380- ((app. di s[ poi nt]
[app. dis[len(app.dis)-1])*200), |ineWdth=1)
Label (poi nt, (380/1 en(app. di s)) *poi nt +30, 387)
Label (rounded(app. di s[point]), 15,
380- ((app. di s[ poi nt]/app.dis[len(app.dis)-1])*200))
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